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[FEEF]

#include <stdio.h>
int main()
{
double assets, debt, invest, value, pricing;
printf ("WFHA LA E BT AE, fELEE, AR S, R E TSRS \nm) ;
scanf ("$1f%1f%1f%1f", &assets, &debt, &invest, &value);
pricing= (assets-debt) /invest * value;
printf (" LW AR BMH assets=2.2e\n T fii B {H debt=% .2e\n FA T A KA
invest=%.2e\n £ K iH{H
value=%.2e\n", assets, debt, invest, value);
printf ("IFEARBEEME N pricing=%.2f\n", pricing) ;
return 0;

}
[EFHA]

A LT EL B R, B, A AR R, BRI E H S A% T
500000000 90000000 100000000 4<CR>

[(EFHH]

LT A R = B H assets=5.00e+008
3Bl debt=9.00e+007
FTAKAR BB invest=1.00e+008
HEEHIE value=4.00e+000
AR R B M AE R pricing=16.40

[BFESHY REREMKITAEAR BREEMH = CFE 0 — 7S D /AT A
SV )BT R, T B SR E . T AR R 0 BN BOR R 2 N, R AR
double ¥ #i 2 RURAEAE , 1M H 587 BUEBK B LU Yo e R Hl i th . 26, 2e Ron i R4
Bk BUR AR B 2 AL/NVEE A HABB AT L A0 . D0 507 ik B AR IE 4 2R Y /D G
JER 5, Y- 1" Ron i FAF S AE

(650 3-2) %5 A5 )7 4 W 48 250 TR 4 30 2 P48 L TR ARG 1o 1L AR5 o 0, 1) 4R 4] I
N ((year%4==0) & & (year%1001=0)) || (year%400==0),

[FEfREF])

#include <stdio.h>

int main ()



24

CiEFTRFEIT TR T AME(HE 2 5

unsigned int year=0;

int res=0;

printf ("WMAER: ") ;

scanf ("sd", &year) ;

res=((year%4==0) && (years100!=0)) | (years400==0);
printf("res=1 ZHH \nres=0 &4 \n");

printf ("R \nres=%d\n", res);

return 0;

}

[EFHEAN]

iH i AE: 1975<CR>
[EFEH])

res=1 JE 4
res=0 J&V4F
ZERIE .

res=0

[BESHY B TEOATEEH B A, B THED year B XM unsigned int 2558, F2
Jo bl TSR GE AT G R As BAT RGE I8 AT AH 5 B R A KR AR I R T AE . R
BAARZBAMS T RRZEMA R TEESHMSFGR T I1DSD R s 5 hE A T e kA
FEBLG” AN 4 A #2000”2000 04 = =0 ¥ E”, H 200020100= =0 JJ* K" 5 H & &z 5
“A T RA year Y6400 AN FHFEASCHI T ST 0E 1% 2 1k O B SRR — A A
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[Ff#EF])

#include <stdio.h>
int main ()
{

char a, b, c;

’

a=getchar(

’

)
b=getchar();
c=getchar()
putchar(a); putchar (b); putchar(c);
putchar('\n"');

putchar('A'); putchar('\101'"); putchar(65);
return 0;

}
[(EFHA]

BOY<CR>
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[EF M) getchar pRECHYE 2 M AR vEf A &3R8 — D78, H— BN
getchar() . TEMI AT R, getchar O WA 2548 L M1 475 44 — M 45 5 A . 4, I i 431
B AN B BUESA > O<TZS M > YL 440 B A B <A AR > OME i 4A
Hoa.bye, B AYLE BN R "B<<ZS K >0", putchar p&ELAIVE T2 b5 o A G R
WR A EAT D i th — 745 . H— IR putchar (o) i il FAF A8 5 ¢ B9fH . c ATLLE
FRERIAR R R AR R SCFE R, A O % oA B, R 7 AR T R AR 4R 1 A A
# include <<stdio.h™>,

5 FEY I AL RETT .
(1) A2 E XE .
int i=6, j=12;

double x=3.28, y=90;

v BEAT 2 0T i i 45

i=6 j=c

x=3.280000E+000 y=90

TH G R SEHL
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) WERFLIMUA TR, HREERTE - DH B DA LB =D A EHRELR
450

TEFEAH: 20 000.00

ERRR . 6.0 %

BN H 3K 48 . 386.66

B— A FRMTHEE RS 19 713.34

A A FIR T LKA 19 425.25

B A HFIR T R4 8: 19 135.71

UL BT A BB R B B /N BUS R 2 7,

PR BN H A SRR A A R RBOR 2 REAS A IR R R P S R A PR
GBI L4 BEOA BRI R AR . A SEEOR SO AR BRSO R R DL 12,
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CiEFTRFEIT TR T AME(HE 2 5

)/ F 4 A REL.

B . KAl T 2016 451 H 1 H WA G2 A FH— 50 5 100 000 JT, #LI R 5 48, T
T GT A SR 6000 JC, B ST AFLEF R 9%, FERBELMEN 220 (— XML
BO . & —FAT— 0, W AR T 2L AT LA R ((100 000 —6000) + (100 000 X (14
9%)°—100 000) 4100 000X 2%)/5=29 972(J0),

3.3 Fehn kR b A UL ) S iR 05 vk
U 310 45 £ 1 HE B scanf 0% printd BECK & S0 R BHILR

T A X 1) R A D DR A A R e S SR AL A% # include <Tstdio.h™ , 8 40 & 5 ik
. fli.

#include <stdio.h>; JIRINT 4, n e
#include <stdio.h>, <math.h> J/ANIEHRFHE TR
#include <stdio.h, math> //ARIER RS 7

FRRF R GIFHAL A A U & T3k, KREA M5 —4 include iy 4 Hg48 & — 4
A Sk, AR EA S 2 30 W FHZ A4 include A4, H— A4 Ry Bl 5 —47 .

Cia @ 3-2] R FAF R R R,

ORI A R R A Z R AR RR M T C I E A EZ T, B,

(1) 7 o IR A il v SO A FI3E SCFA4

CIBEFAEIEE LR LHE b SCFAF L BT B S 5k 7 A 2 45 My #1075 240 3 SC 7 4% .
RAEFAT R AR LAAM 09 3 77 (6 2 M 47 RR IR 2 M bR S AT 5 g 5 54, 5ok
TS AMARMG , REE 5 K Gy 27 AR R R

114 -

int a, b;
a=5; J/XBEEHT &f05
b=8;

(2) 78 SCARVLAT A0 B 4 P Al 2 1 24

C 15T A AR 5 55 iy 44 0 5F — 22 BRI, I AR 04 19 & FRAR o] LA #2532 . Bl . fCa) .
a—b.2x #IEARL M. BRI A 4 A AR R A IR

(3) 1B iR B £ PR

1 4

print ("Hello World"); //print DA —A"EVELE, SRR ISR
(O REIE BT,

E CIE T WL IE AT A AR 5 S5 08 b (25 7= A e 2l 1

114 -

x=5\2; / /RS BRS
printf("/n"); /15 R HATIF
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#include <stdio.h>

int main ()

{
y=x+10; /1y, x TR E N, SR
return 0;

}

FRR TR TERE DRI R A, B i A — 3 30 T DA D 4 A 2l A 00 1), DL R 1
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(o) &% 3-41 7208 748 2R 8, 4T T AR iE .
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int main()
{
float a=4.0, b=3.0;
printf("sd", asb);
}
PR Do R WA aa B, U R R A B o AT L R AT Oy o B i 5 AR
ORI R T LG I 2 B R
FRIRTT R . HEATIE N — R B R R A R e
Cis) &8 3-51 G A B ivh 78 5y th BLLL T JUR S R .
(D) ZHHTRICE k75 87,
i .

X
.
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scanf ("$dsd", x, y);

FARAE S PRI R GEBOA s AR (ERTE R P as A7 i 2 A

FRIRTFTIE W ABCR I AR R A A M 7T 87

(2) WHERLS ARG G AR R X S scanf Hig 2747 8 b p A% 08 — 2,
B .

scanf ("%d, $d", &x, &y);

BB . 12< 25 K% > 36<CR>
Sy AT T A B8 2 ] 25 6 4 TF o EL 2 scanf 4% 3057 45 6 o (0 BT A V6 d 2 32 B 43 TF
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19, B LA x BB BB 12,10 y 2 BEALEL .

T ) i A7 2O2 0 E 5 40 TF AR S 28, B A 12,36<<CR>,

KL H, G0 B A R scanf("x=%d, y=%d", &x, &y); WIEH AT R 2
x=12,y=36<CR>,

R E . W ABIERIRE DY scanf A% T4 5 ARSI FR 52 & — 2.

(3) g AN A7 BUEAE I FH 25 % 1] 4 43 28 3B R A 2 A 5504

fian .

scanf ("%$c%c", &chl, &ch2);
printf("chl=%c,ch2=%c.\n", chl, ch2);

i AKCYS A< 25 H% > B<CR>

R chi=na, ch2= . (ZEPRE che=/a RN T —124#%)

e A% XA R AN Yoo Z IRV 4546 L A8 4 78 B A B0 B AN =48 ARINB 2 ) Al
NREA M. WRABERXTFHEG R Yoc %" WAEK AR AF'B'Z B A LN, &5
" Yoes Yoe! M AR A B<<CR>.
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Lia) &% 3-61  fii A% a0 Ak A it ek B0, 4 2 7240 5 48 i B0 28 AR R DL L

BIELLT 4 A FE B

(1) int x=3;

printf ("x=%f\n", x); /5 = B MR R
Hi 455 . x=0.000000 / /% 25 R 2 R AS DL i

(2) 1int x;
scanf ("$£", &x); //HAN x B A EA £ RN

printf ("x=%d\n", x);
i AU - 3<CrR>

Hi 45 . x=1077936128 / /% 2 A%
(3) float x=5.6;
printf ("x=%d\n", x); /7% < B A E A QR
W4 H . x=1610612736 / /5 R AT
(4) float x;
scanf ("$d", &x); /I x B AR FERA R

printf("x=%f\n", x);
it AKHE 5. 6<CR>
458 . x=0.000000 / /% 2 SRR KT

fRIRTFTE . WP — 5 A 5 S AUAR TR .
#5507 EE . long int A= double & L3 #r N v b B B 3T B 69 AR X F A AT e F
£,



